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l. 2x=3+9 956,461,508 209,108,308
(1) 202x3 950,161,508 209,108,308
1. JIEt=208x3 950, 161,508 209, 108,308
(2) AIKME=S 6,300,000
1. AAMEES 6,300,000
. Jdg 2 IR
. 2392 9 24,130,913 666,665
(1) 2gA+< 24,130,913 666,665
1. Ol Xt==< 20,886,688 647,045
2. AR=SAMdE=HIZ e 647,045 19,620
3. JIEt2g 2 =< 2,597,180

_13_




o
o O:|Q

Al

& A

( HMI501 2008E 32 O1LSEH 2009 2& 282 NHAl )

22U DAt g E (&2l &)
= J| & J|
) =
3 o 3 o
2 9 & o9 =5 080,592,421 209,774,973
2 g9 H =2
. &8 & =y
. EXZ At 868,702,008 175,450,488
(1) & 2 Hl 868,702,008 175,450,488
1. A 577,599,000 129,857,500
2. SR HAL 291,103,008 45,592,988
. Ler 22| 775,550 54,500
1. N33 36,000 54,000
2. & & i 660,000
3. JIEtRAR2I 2 A 79,550 500
V. 299t 8 21,191,747 647,045
(1) 2gAH & 21,191,747 647,045
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SYnsnasEAG CLEE:)
= & ]
) =
2 2 o
JIEr2E 2 305,059
DRISHANGEH=H 20,886,688
g H = 890,669,305 176,152,033
A =2 9 89,923,116 33,622,940
g i = 980,592, 421 209,774,973
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